HW2 due Friday, Feb 9
Turn in 1.4#10

Practice 1.3#8, 1.3#9, 1.4#2, 1.4#5, 2.1#2, 2.1#6

Let f be a function from X into Y. Let ¢ be a function from Y into Z.
Assume that g o f is onto Z. Prove that g is onto Z. Give an example

showing that f need not be onto Y.
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9. Find a bijection from (0, o) onto (0, 1).
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2. Prove that foreachn in N, 1’ 42" 4«4+ n’ = [n(n + 1)/2]".
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5. Prove that for each n in N, 4 divides 7" — 3".
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10. Prove Bernoulli’s inequality: If x > —1, then (1 4+ x)" > | + nx for each

nin N,
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2. Show, by example, that if x and y are irrational, then x + y and xy may be
rational.
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6. Write 0.33474747 - - - as a fraction.
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